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GENERAL INSTRUCTIONS TO THE EXAMINEES : x|
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1) uﬂmﬁﬁnmmﬁmuammaﬁaﬁm%@l f
Candidate must write first his / her Roll No. on the question paper :
compulsorily. |
2) vt v we sifErd g Jl
All the questions are compulsory. |
3) yﬁammmam‘m—g@mﬁﬁ%@ }
Write the answer to each question in the given answer-book only. |
4) For iyt 8 st oS 4, 3 it 3 I w @ ferdl 1
For questions having more than one part, the answers to those parts are to be |
written together in continuity. ‘E |
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SECTION - A
@mm(i@xvi)mm%mmwﬁmmmmﬁml

Choose the correct answer from multiple choice questions, (j to xvi) and write in given

answer book.
D D R-wEheE A s %
H) T )
q) AxX 3) IWE
An example of a non-albuminous seed is
A) Wheat B) Maize
— C) Pea D) Castor
i) e s & v g 1

&) | FEHSTH —> T el —> TR —> YT aRad

q) TR — FHETH —> gum {9 — *qgﬂu afae

9) yofta uiaeda - gma-mr-r — AR —> Jh HeraH

3) TWE e - Yo wiaei — guee - g

Choose the correct sequence of processes in human reproduction:

A) Gametogenesis - Gamete fusion — Zygote — Embryonic development
B) Zygote - Gametogenesis — Gamete fusion — Embryonic development
C) Embryonic development — Gametogenesis — Zygote — Gamete fusion
D) Gamete fusion —) Embryonic development — Gametogenesis — Zygote

i) fafeRea @ @ St wfgenen o e & ufka 27 [“4]
A)  HUSTEH a) AfeTRT-IBA
|) e 3)  RAEEH-IDH
Which of the following is sterilisation process in females?
A) Oogenesis B) Tubectomy
C) Spermatogenesis D) Vasectomy
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iv) aﬁmwﬁmmojg,maﬁﬁwm,aﬁqﬁamﬁﬁ%mﬁmgm[%]
H) VAEEA q va @) DogiRem a e 1o
W) R Y T S v ), ohe gl @ =

The unequivoca] proof that DNA is the genetic material, came from the
experiments of which scientists.

A) Schleiden and Schwann
B) Mathew Meselson and Franklin Stahl
C) Francois Jacob and Jacque Monod

D) Alfred Hershey and Martha Chase

v) DNA % &R Teeiert am S Arggier e & g g 2| (4]
#) whm @) W
q) usim 3) TR
Which nitrogenous base pairs with guanine nitrogenous base in DNA
A) Adenine B) Cytosine
C) Thymine D) Uracil
vi) wifd & e seEm 2 - [
H)  owEr em q) AR fRE
q). et ffem 3) Tt e
Darwin's finches is an example of
A) Convergent evolution B) Parallel evolution
C) Adaptive radiation D) - Chemical evolution
vii) Sftamo e A R - [“]
). feeefif )  HAAfEn
|)  anfem 3)  UwhfEa
Bacterial disease is “
A) Diphtheria B) Malaria
C) Amoebiasis D) Ascariasis
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Vi) e & whren gyt e o1 1 T A - 4]
¥) TR e q)  Ffeam st
W) SRR i 7), Yo T
Citric acid is produced by which of the following microorganism.
A)  Acetobacter aceti B) Clostridium butylicum
C) Lactobacillus species D) Aspergillus niger
ix) TR Xt s R e & - %]
¥) wTH | T)  wghEw
) e 7 W
Agarose gel is extracted from -
A) Fungus B) Sea weeds
C) Hydrilla D) Wheat
X)  a dreifeh gr an e e § SR 2 - 4]
) A a) fefm D
w) fefm 'K 3) fefm'E
"Golden rice" developed by biotechnology is rich in-
A) Vitamin'A' B) Vitamin'D'
C) Vitamin'K' D) Vitamin'E'
xi) TR U W e AT TehAl S Hel WYL @ - [%]
) AR, A q) IR, AT
q) TR, AWAEd 3) IR, AT
Correct set of processes which decreases the population density are-
A) Natality, Emigration B) Mortality, Immigration
C) Natality, Immigration D) Mortality, Emigration

CC i 138 . % es l§ﬂl.1| f Twivn Nver



6
xif) Fwe TReaien v, R 2 it w @ B - 4]

H) Ot a)  wuf
W), wRwwR ) WwEm
Population interactions, in which both the species get benefited.
A) Parasitism B) Competition
C) Mutualism D) Predation
A) TR 7) et
|) SERAqE ), S SHawnen
An example of man-made ecosystem is -
A) Desert B) Rivers
- C) Estuary D) Aquarium

Xiv) /WTE YT F WeHw simay w vl 2 - [
H). ARR A q) TS A
|) N ER 3) SRl
The natural interconnection of food chain is called.
A) Food web B) Standing crop
C) Trophic level D) Productivity

Xv) 3wt Snhie 3 Sgreer § Faq fre  fava firer wren wa smaf R wan en? [

#1990 [) 2002

|) 2010 3) 2020
When was the world summit on sustainable development held in Johannesburg,
South Africa?
A) 1990 B) 2002
C) 2010 D) 2020

xvi) greeaiz &t I & - [4]
) IW WRAE A q) ol arda dem
W) ;e 7)., fRaem
Example of a hotspot is -
A) North Indian Plains B) South Indian Plains
C) Tundraregion D) Himalayas
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Fill in the blanks :

i) ﬁﬁaw%m%ﬁwaﬁ&wwk..;.u.mmﬁél [4]
- The central cell after triple fusion becomes the .

Y @m%wmawm@mmﬁ ............. WIS A E [V

. help in collection of the ovum after ovulation,
/i) Fz%ﬁ%ﬁé%ﬁz@ﬁu&m%ﬁmﬁm%g%ﬁéﬁémaﬁﬁéﬁﬁm
T SREEIE ... F@ | D [“2]

To determine the genotype of a tall plant in F,, Mendel crossed the tall plant
of F, with a dwarf plant, this is called a

iv) HTREeRg dur-wy SR I g 2 [“2]
Deletion or insertion of base pairs in DNA cause mutation.

V) e ﬁaiam%ﬁ;w&ﬁasﬁa,@nﬁwlanqﬁﬁaﬁtmm

- () FRR 3 &, i s it 2 gt i e R TR B A %]

principle says that allele frequencies in a population are stable and
is constant from generation to generation.

Vi) e, AHE TN TReliet & srftaan 3 g ) [¥]
IS a protozoan parasite which causes amoebiasis.
vii) i grr fenfoem o B welt s v L T8 < IeaTeH % HR0 Bt 1[4

The puffed-up appearance of dough fermented by bacteria is due to the
production of gas.

viii) ot Sl g WH a1 ... U~T3H <l Wit & Eee = fafie sret o
' [%4]

The cutting of DNA at specific sites became possible with the discovery of
the enzyme called as molecular scissors.

ix) faRwfmfmguaeagdadsa............ gd 2l (4]
" The toxin is coded by a gene named .
el U & 3299 O 3ThIeh hefthet ..., I AT At ® @ | [“]

Introduction of the African catfish for aquaculture purposes in

our rivers.
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.Give the answersg of the following questions in a word or a line.
) T 2 o i [
Define apomixis.
i) g2 & R rutor a wam R 1]
Write type of sex determination in Grasshopper.
i)  RET (RNA ) w1 o wepme iR <t Gt 10! & 1 & SMIeiweh e & UgR o1 i
T R Nl
Write the type of RNA which brings aminoacids and reads the genetic code.
iv) DNA # Hfaerirames a wicke @g a4 Suredd ser & 7w fofaul [1]
Write the name of bond between phosphate group and nucleoside in DNA.
v) 2nh Raem wea S Rmmh e e e oft? [1]
What was the approximately brain size of Homo erectus man?
vi) geasua = frRem) 1]
Write analogy.
vii) wfra aferen # aitaria ikl 1]
Define active immunity.
viij) e TR & fore IuEm # forg W A gestta @ A ferfem [1]
" Write the name of microorganism used in bread making.
@is -9
SECTION - B
AYIAAG WA (I e {50 Ig) ¢
Short answer type questions (Answer word limit 50 words)
Describe the structure of megasporangium.
5) T® WA 6 I FE H ARG R w1y

(1%]

Draw labelled diagram of transverse section of 5 pollen sac.
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7)
8)
9)

10)

11)

12)
13)

14)

15)

. 9
T ST ST 35 2 i vargann e | [+t =1%]
Write any three €Xamples of assisted reproductive technologies.
Eﬁ-ﬁﬁmmfmmmm@ﬁql (1]
EXplain reason of sickle-cell anaemia disease.
Wwwma%amﬁmuﬁzaﬁﬁaml [1%]
Draw a Punnett Square diagram showing the incomplete dominance.
a@mmﬁq@ﬁﬁ%@mml [1%]
Explain role of microorganisms in sewage treatment.
et it s i e %]
Draw a labelled diagram of biogas plant.
u@ﬁﬁﬁmaﬁﬁ%mﬁuﬁmqaﬁmwﬁﬁ@%ﬁﬁ%ﬁm [1%]
Write one method of introducing foreign DNA into host cells.
3. SIS FAN Hages pBR 322 & fax ammgn [1%]

Draw a diagram of E. coli cloning vector pBR 322.

IRt W <t aitwre fefee | aRsiet g @ A S AR AT s e e [14+%4=1%]

Define transgenic animals. Write one benefit for man by transgenic animals.

I A Wi v wE H S FHEH Tt R TR wee 2, e e anE|
[1%]

Explain with an example, how molecular diagnostic techniques are helpful in early

diagnosis of the diseases.

TR EREUT hY IETERUT S TS [1%]

Explain In situ conservation by giving an example.
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SECTION - C

eI T (IW vz Wiy 100 vr=) :

Long answer type questions (Answer word limit 100 words) :

16) gws = =Ry

Explain spermatogenesis.

3]

Far/OR

¥ & Refeen s 3 s ferfa (1+1+1=3]

) oid

i) weTEs

i) 9B

Write the function of following parts of sperm -

1) head

i) middle piece

i) tail

17) $TAT a RCAT & = @ aier fRikag) [1+1+1=3]
Write three differences between DNA and RNA.

Far/OR
freafciRaa & aw | fofam [1+1+1=3]

) <N S R A FHARE Hel

i) AT H g WE T UAILIEE Hl Heet@H &l 2l
iii)  SreTe e v GeTEH < g e g

Write about the following.

i)  Genetic code that has dual functions.

ii) A segment of DNA coding for a polypeptide.
i) Fragments of DNA joined by which enzyme.

18) ®WR @ (i) Tafe gg =1 auix Hifvm
. 3
Describe the logistic population growth. Bl
FYE/OR

Twfe $t A3 fi7 weeayut v ol [1+1+1=3)

Write three important characteristics of a population.
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SECTION - D
Ferarers s (sw wee 150 vrsg) :
Essay type questions (Answer word limit 150 words) :
19) 1)  AIDS =t qu 7 fiRay)
i) HIV @A & =R 7@ fRaul
i) HIV dwrut 6t dwems w5 3ara fRiRkau|
1)  Write full name of AIDS,
i)  Write four ways of transmission of HIV infection.
) Write a way to prevent HIV infection.
[1+2+1=4]
JFgar/OR
i) eyl §eRA @l aRwiita Hifm)
i) YW S T oA ez I s W Hifd)
iif) ¥R % frelt v wror =) Rifa
1)  Define contact inhibition
i)  Explain the difference between beni gn tumors and malignant tumors.
i) Write any one cause of cancer.
[1+2+1=4]
20) i) Az wufies Serewar i gRwE S|
i) Tl e wadw w s # g @ v aweey
i)  Define net primary productivity.
i)  Explain with diagram that the pyramid of energy is always upright.
[1+3=4]
JFUar/OR
) T v @ wd wEe S aRafia S
ii) T AT Uite= § U9 Y wlka % wgwagut it ® wwgsw)
i)  Define standing crop. .
ii) Explain important steps in the process of decomposition in a terrestrial

ecosystem.
[1+3=4)
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